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Instruction : First 15 minutes are allotted for the
candidates to read the question paper.
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Note: (i) This question paper consists of nine
questions in all.

(i)  All questions are compulsory. '

(iii) There are five sections in this question
paper : Section-A. Section-B. Section-C.
Section-D. Section-E.

(iv) Section-A is objective type and each
question is of mark 1.

(v) TSECHon-B is very short answer type and
each is of mark 1.

(vi) Section-C is short answer type and each
is of mark 2.

(vii) Section-D is short answer type and each
isofmark3.

(viii) Section-E is ﬂing'ans\\-cr type each of
mark 5. Intemal choice is given in all
four questions of this section. Only one
questfon is to be atempted among
questons of given choice.

(ix) The symbols used in the question paper
have usual meanin e

g.
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(iii) 12 3 (iv) 24 M (i) ® %
() e vl afwy # R = 100 379, X, =200 I. (2 TheunitofElectric flux is 1
SR e 7t sated ow & L Molt xmetre  (iv) Newton / Coulomb
(i) 0° (i) 30°
Lo rta %
(iiz) 45 (v) 90° (b) A wire of 24 ohm resistance is bent in the

form of an equilateral triangle. The effective
resistance between any two comefs is
following | 1

« 9
) zom () L ohm

(a) AR gaw Fvr o g1 il H11 B &, A 1
(i) tanaxsinf=1
(i) cotaxsinP =1
(iii) tan =1
i an o x cos B (111) 12 ohm (iv) 240l
(iv) cot o x cos B = 1 o
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In an altemating circuit R
y series. The

- 00 phm are i

“him and N
Jtween voltage and current

phase difference h .

s
() 0°
(i) 457

(i) 30°
(iv) 90°

If polarising angle is & and critical angle is B.

then

y tan o x sinf3 = 1
(i) cotaxsinfp =1
(iif) tan o x cos f = 1
(iv) cotax cos B =1
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Which of the following particle moving with
same velocity has maximum de Broglie
wavelength ? 1
(ii) Proton

(iii) Neutron (iv) Alpha-particle

In the experiment of photoe’ecxric effect. the
slope of the graph drawn between the
frequency (v) ﬁthe mqldem light and

stopping potential (V) is
. h
(i) h Gn =
) \/(‘“) e
(i) £ .V
h (iv) >
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Define sccond focus of a concave lens.

Write the rclationship between the average
life and half-life of a radioactive substance.

Explain the meaning of photoclectric work
function.
What is meant by wartless current ?

Define potential gradient.

Define current sensitivity of a moving coil

galvanometer.
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(@) What is the phase difference between current

and voltage in a ugely inductive alternating
~ circuit 7 Wﬁte do%;he formula of inductive
7 v X%
reactance ofthis ¢

2

2

2

P o : |
() Find the energy of a photon in eV having

wavelength A= §x 107 m.- 2
(¢) If angle of thiprism and the angle of

minimum - deviatioff are equal, then find the

refractive index of fi§iierial of the prism. 2
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Draw symbol d
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nature of the combined lens ?
(b) Obtain the formula for the rr_ingc “""d“‘ with gl g | hup://www upboardonline.com 3
the help of Young’s double slit experiment. 3 -
(c) The average life of a 16 gm radioactive (=) W’m it Arg-grada 1gY
substance is one day. Calculate : 3 FE? g;ﬁﬁm | 3
@) Its undecay amount after 3.5 days. . < fopeor Tt@ =Aga
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5. (a) With the help of Kirchhot?'s Laws eelatad
: an electrical circuit. obtain the :
4

balanced state for Wheatstone bridec iy g

P. Q. R and S are the resistances ol the tour

sides. 3
(&) What is electrical resonance 2 Obtain an

expression for the resonance frequency with

the help of series resonance circuit. 3
(¢) Derive the formula for the capacitance of a

parallel plate capacitor partially filled with a

dielectric medium. 3
(d) What are the paramagnetic, diamagnetic and

ferromagnetic substances ? Justify your

3

answer.

(¢) Draw a ray diagram of a refracting telescope
when final image is formed at the least
distance of the distinct vision. Write the
formula of its magnifying power for this
position. http://www.upboardonline.com

OR

A compound microscope has an objective

lens of focal length 2.0 cm and an eyepicce

lens of focal length 6.25 c¢m separated by 2

distance of 15 cm. How far from the objective
should an object be placed in order to obtain
the final image at the least distance of distinct
vision (25 cm) ? What is the magnifying
power of the microscope ?
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What is meant by the polarisation of light ? Two
polaroids A and B are placed crossed with each
other. How a third polaroid is to be placed in
between them such that the light transmitted from

: oy 1
B have intensity 35 that of the intensitv of

unpolarised light incident on A ?
OR

What is Huygen’s theory of secondary waveleis ”
A monochromatic light of wavelength 6000 s
}n:;:dcm on the surface of a glass having refractive
index 1.5 from air. Find wavele :

. ngth and speed tor
each of following : 2 B
(i) The refracting light
(i) The reflecting light
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State the laws of photoelectric effect. The light of
intensity I and frequency v is incident on a metil
surface of work function W. How will the
photoelectric current and the maximum Kinete
energy of the phot@lectrons change when 5
(i) Intensity of the incident light is sume but
frequencies are ditlerent,
(i) Frequency of the incident light is same but
mtensities are different.
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§.  What is Ampere’s circuital law ? Explain Ampere -

Maxwell modified law and explain displacement
9. ’

current with its help.
OR
Deduce an expression for the force acting between

two current carrying paralle! straight conductors

and hence define 1 ampere of current with its help.
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i, A Bhyaical constunts :
it =0.“.b=0.6a2nc=0.8mm.m
. "&2" ﬂa»'; R fea foga e =4 H A Charge on electron = 1.6 7 10 1 coulomb
t= [ s
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b

Speediof lightc 43 x 10% ms
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9. What is the principle of transformer ? Mention the
difference between step-up and step-down Acceleration duc o gravity g = 9.8 mis?.

transformers. Mention the causes of energy losses
in transformers.
i
b o
State Faraday’s laws of electromagnetic induction.
The flux of magnetid field changes with time
according to the equatiqn ¢ = at? + bt + ¢ weber. 5

(i) Find the unit of a, b- dc.
Gi) Ifa=03b= o.eLa"f ¢ = 0.8 unit, then

calculate induced electromagnetic force at
t=2 sec. :
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